Multiplying Two Binomials by a Trinomial (A)

Simplify each expression.

(=8m? + 2m?)(=5m* — 3m®)(—6m® + Im* — m?)

DO

(—4p® — 5p*)(—4p — 7)(8p° + p* + 9p?)

3. (—49° + 9)(69° — 69)(3¢° + 3¢° + Tg)

O T(6 T (=57 +2f — 1)

W

5. (=b— 5)(—T7b" + 4b)(8b* — 9b* — 4b)
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Multiplying Two Binomials by a Trinomial (A) Answers

\}

o
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Simplify each expression.

(=8m? 4 2m?)(=5m* — 3m3)(—6m® + Im* — m?)
— —240m'? + 276m!" + 122m'° — 68m° + 6m®

(—4p> — 5p")(—4p = T)(8p° + p" + 9p°)
= 128p'! + 400p™ + 472p° + 467p° + 315p°

3. (—4¢” + g)(69° — 69)(3¢° + 3¢° + T9)

= —72¢" + 18¢°% — 964° + 192¢* — 424°

(6T TI=6 + T (=5 4+ 2f — 1)
=180 — 729 — 209 % 4+ 98" — 49 f¢

(=b —5)(=Tb* + 4b)(8b> — 9b? — 4b)
— 560° + 1850° — 467b* + 56b° + 80b°
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